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Instructions for Candidates:

HUAT URA-GIETe!, NTAIR Me Td se-giecar & & aw
IGERUIC I LR

Carefully read the instructions given on Question Paper,
OMR Sheet and Answer Sheet.

UeA-gRIST ety T ST s A ¥ wdemdf s forms
¥ foT frdll U 9w FT TIST H FebaT § (31ATT AT A
RSy ar 3ide) |

Question Paper is in Hindi and English language.
Candidate can choose to answer in any one language (i.e.,
either Hindi or English)

H ARYA/UR & & HPT & AT v H IR g 3R smr
qY 3 o U E

There are TWO PARTS in this Module/Paper. PART ONE
contains FOUR questions and PART TWO contains FIVE
questions.

T T “dbfoud” TSR & & fodd Hol 376 40 & AT
1T &), “TIhIE” UHR & 3R 385 Fol 376 60 &

PART ONE is Objective type and carries 40 Marks. PART
TWO is subjective type and carries 60 Marks.

AT UF & 3, 36 UA-UT & {Y & TS HANR ZR-
gfeasr W, 389 @A U srgeet & e & F = R
AT ) H S-GRTH F HET TH F IR A A A
=ifevl

PART ONE is to be answered in the OMR ANSWER
SHEET only, supplied with the question paper, as per the
instructions contained therein. PART ONE is NOT to be
answered in the answer book for PART TWO.

T TF & v Afead g @ie e gver fAuiRa &
TS EI AT &Y H SA-GRAD!, HET Teh I SeR-gRaedr Tl
T & T & et gy, Auiia vF 8¢ 8§ uwer ST
Uh QU A el glemedf T v fr seR-gieaer Adets
@ o & I G, T & B SIR-YRADT & Fhe

Maximum time allotted for PART ONE is ONE HOUR.
Answer book for PART TWO will be supplied at the table
when the answer sheet for PART ONE is returned.
However, candidates who complete PART ONE earlier
than one hour, can collect the answer book for PART TWO
immediately after handing over the answer sheet for PART
ONE.

qdemeff, sufRufd-ufer w srER e far 3k smeh
FR-gieaer, Alere o @ R, oler e /e G
oI5 Thd § W aE R R, wQandt @ 57 Ay /
IR 3R BT T G seem

Candidate cannot leave the examination hall/room
without signing on the attendance sheet and handing
over his Answer sheet to the invigilator. Failing in
doing so, will amount to disqualification of
Candidate in this Module/Paper.

WRA-gRAH B e d fAdy e & gug wd 3R
forgar 3RE A § Ugdl 3eficaR I Sitg @) gt
R & 5 weA-gias uds =2 & dgot ¥

After receiving the instruction to open the booklet and
before answering the questions, the candidate should
ensure that the Question booklet is complete in all respect.

dAre: afg RS dvawor f g IR / REafa o$ Snelr §, aF 38 3w 7 IS FERtor & AT 9 |

Note: In case of any discrepancy found in Hindi language, English version will be treated as final.

ST de MUY Hel & T, Jd db YRA-Giedehl o el |
DO NOT OPEN THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.
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T Tk / PART ONE 1.2 A& & 8 Bl @ R T3 ¢ TS oA

@M YA F 3 E | / Answer all the 72
questions.) (A) T foid o
1. oY 9% WA & SR & @ Rwen (B) FHHUIE TR
A aw § | v F9d 3ugh ey (C) Tad R
gt 3R 3Q wRA-UT & WY Uy (D) ffawe X
IT T “INTHIR SeR-Th 3, 33 Which of the following layer is an
T e Y | end-to-end layer ?

(A) Data Link Layer
Each question below gives a (B) Transport Layer

multiple choice of answers. (C) Network Layer
Choose the most appropriate (D) Physical Layer
one and enter in the “OMR”
answer sheet supplied with )
the question paper, following 1.3 T3 fohd SRR WX UR=Teled X & 2

instructions therein. (1x10=10) (A) Acad

1.1 TIRMTTASE. (ARPANET) & B g_ai’ ' ism', hel (Physical)
qUT U & ©

&) TsdiEs REd doided Tl (D) gEWE (Transport)

Routers operate at which layer ?

AcID (A) Network (B) Physical

(B) Usaiw R Wierde Torg (C) Data Link (D) Transport
e 1.4 &5 & ¥ fpg ok W yare ag=or

(C) FARCH v Uioiee Tsarw fraT ST 2

ATID NG G
(D) WD H ¥ IS G B) fFfS@e (Physical)
ARPANET stands for (C) serfoiw
(A) Advanced Research Projects D) >RFHH IS T8

Agency Network

) Flow Control is performed at
(B) Advance Research Project

which of the following layer ?

Agency Network (A) Network
(C) Asymmetric Routing Project (B) Physical
Advance Network (C) Data Link
(D) None of the options (D) None of the options

Page 3 SPACE FOR ROUGH WORK M2-R4-01-19



1.5

1.6

1.7

T EUA.TA. H <a> SI7 &l FAT
g sow RIS |
Q) forre

(B) foiaw

(C) vsH

D) SWEH A IS AL

<a> tag in HTML is used for
creating

(A) List

(B) Links

(C) Address

(D) None of the options

U%.E1.3).37T3. gRT fohd TITeATIchT ol
TN ThaT ST © 2

(A) IF Ui

(B) T araraltai

(C) 33Tl T Srarelish

(D) JA9A TUTATSI

Which topology is used by FDDI ?
(A) Bus Topology

(B) Ring Topology

(C) Dual Ring Topology

(D) Mesh Topology

A daalaar/Aaduega e i 2

(A) 0.0.0.0
(B) 127.0.0.1
(C) 127.[anything]
D) IWHH & T

Which of the following is/are
special address ?

(A) 0.0.0.0

(B) 127.0.0.1

(C) 127.[anything]

(D) All of the options

1.8

1.9

3. T3S, AlseT H Jeddh oA U
heASRRIeT S @l HaT3iT T Ped
|

(A) SICHEITHA Jdac

(B) TY3rer wfdhe

(C) Uehe FEafier

(D) W H F PIg el
Connection oriented services at
network layer in OSI model is
called

(A) Datagram subnet

(B) Virtual circuit

(C) Packet switching

(D) None of the options

ISDN PRI & urg forda I9e1 & ?

(A) 22B+1D
(B) 23B+1D
(C) 24B+1D
(D) 25B+1D
ISDN PRI has how many channels ?
(A) 22B+1D
(B) 23B+1D
(C) 24B+1D
(D) 25B+1D

1.10 Teh T.E.TH. A ol 3ThR &

(A) 51 Bﬂm

(B) 53 3iecH

(C) 55 3ierecH

D) SWEH A IS AL
The size of an ATM Cell is
(A) 51 octets

(B) 53 octets

(C) 55 octets
(D) None of the options
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2. o & = v« faaRor ar ar 2. Each statement below is
e AT TAd § | Th O UL either TRUE or FALSE.
RIFeq ?;F‘T 3 39T RApeT Ua- Choose the most appropriate
T ¥ WU ZTGEY T IT one and enter your choice in

\ . s the “OMR” answer sheet
3-“‘1 3at #, ) few supplied with the question
mﬁé&ﬁﬂsslault,aﬁ’raﬁ | paper, following instructions
(1x10=10) therein. (1x10=10)

2.1 HTML & U® s Tolch deTed &l Tl
AT ¢ <a href="mailto:xxx@yyy™> | 91 The correct way to make an

2.2 3D W AR HifTeha B email link in HTML is
thdel 3¢l JERUT & forv ofse dew <a href="mailto:xxx@yyy”>
T U1 L & | 2.2 Infrared waves and Optical Fibre

2.3 TATA. &geqwlf&m ELRESINE cable wuses light waves for
FACSICIATREI bl YA AT & 3R transmission of data.
3T ol oY, AU 3R & tﬁh?}f 2.3 ATM uses asynchronous time-
H TAPIS AT & ot Jed Ped & | division multiplexing, and

2.4 TAHNAW. (HTTP) T Tecad encodes data into small, fixed-
(stateless) TAFAE | sized packets called cells.

2.5 ﬁ\_ﬂ m' T Ta.T.Uq. op=iraus Gl 2.4 HTTP is a stateless protocol
3TITETR el P & | 2.5 Bridges do not forward LAN

2.6 TIAT AR Pl AT Jcad Hed Broadcast at all.

Hr g "0" W 3R T ﬁ?\'ﬁ G| 2.6 Subnet Mask is made by setting
g "1" gT AT HIh IATAT SATAT & | network bits to all "0"s and

9.7 TIHTATA. & 3999 F T setting host bits to all "1"s.
SRl auTRa &1 qﬁm Gory 2.7 Using HTML, you can create
TFa ¥ | user defined tags.

2.8 3S.TgELU4. (ISDN) Far & ar 2.8 ISDN prescribes two levels of
TR AUIRT aear & - 3w, service — BRI and PRI
(BRI) 3R O7.37X.33. (PRI) 2.9 HTML is case sensitive.

2.9 TIITATA. SHFIAE | 2.10 href stands for hypertext

2.10 href & QUT U FTSUICFEC IHE & | reference.
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3. A X 7 & 717 Qreet 3R arerat o1 feie dicd Y 3 83 a7 Rpead a«afad
37 / A<cl / ARt A B | U AT UA-UF & A1 oA T “HTHANRT? -

T 3, 38 G T it &7 Ureret At T, & Y | (1x10=10)
X Y
3.1  |grarsfRere urey # fAwid fhar smar & ThTatehel ORI
3.2  |oeer b HedlprEe
3.3 |ucde Al Ul gE A1s W oE ¥ 32 focw
3.4 |T® H 3P FUR JOROT (Broadcast)
3.6 | Felrse 3N HR & i< HTYT BTl & IR0 b TH.UH. UsH
forT g2eT fomam ST arelt ATAd Scads Wiethre
3.6 |l AR Wada 48 facH
3.7 |fe Tefh fEaeds 3R ar~R
3.8 |va.dlua.vd. & GEAifhd g TH.Te. 37750, (SLIP)
3.9 |uA.ud. U3y H FdFTS HiTCeehol BIger
3.10 |atggora TH.EL.
ardrar
A
311.31M8.(01)
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3. Match words and phrases in column X with the closest related
meaning/ word(s)/phrase(s) in column Y. Enter your selection in the
“OMR” answer sheet supplied with the question paper, following

instructions therein. (1x10=10)
X Y
3.1 Represented in hexadecimal format Physical layer
3.2 Character Stuffing Multicast
3.3 Every node is connected to every other node 32 bits
3.4 One to many communication Broadcast
3.5 Standard network protocol used to transfer computer MAC Address
files between a client and server
3.6 Total Internal Reflection 48 bits
3.7 Bit Stuffing twisted-pair wire
3.8 Numbered List in HTML SLIP
3.9 Length of MAC Address Optical Fibre
3.10 |Modulation FTP
PPP
Mesh
01
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4. & fw ae g Aty #F A= & 718 TR @ v e A1 Ay Y forga & o Rep
U BIST AT | I 3UGh fAhed g 3R UA-uF & |1 g 71w “3easm”

STR-Ueh H 37IeRIT &I UTelet A gU 37U faehed &1 Y | (1x10=10)
A. o B. |gfauifed (nterpreted) C. |37 ‘\’ﬁ qdT oTaMar
D. |twEa3ms. E. |suaams. F. |& dca®
G. |orfer H. |ggRoT (Broadcast) I |goma &
J. |3 uaTag. K. | 31ae a3at L. |g&ford (Compiled)
M. e

4.1 SYeafh Al A 3TIYROT T TN fhAT ST E |

4.2 TEUE W W TS T U7 fhar ST & |

4.3 H e FeAMIdT &1 9T Yer fhar arar g |

1.4 IR BN A RARCT T WA P e & T AP N E |

4.5 SId W & TIT HUATH TF YT & df U faster 3uepton & T

AT RAT ST & |

4.6 WA

REGICE

4.7 3T TEROT & FAYT AT S |

4.8 C2C $-arforey AlSe T T IS0 § |

4.9 Siar f&hte Th 3wg T, faie 3R DI SodT & |

4.10 TS # HeeIpIEcdT HerddT Vel &l ST & |
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4. Each statement below has a blank space to fit one of the word(s) or
phrase(s) in the list below. Choose the most appropriate option,
enter your choice in the “OMR” answer sheet supplied with the

question paper, following instructions therein. (1x10=10)
A. |Port B. |Interpreted C. |Error Detecting
D. |FDDI E. |EMI F. |Tree network
G. |Layering H. |Broadcast I. |[ClassD
J. |OLX K. |Infrared wave L. |Compiled
M. |Flipkart
4.1 concept used in Networking Models.
4.2 address are used at Transport layer.
4.3 Fault Tolerance feature is provided in
4.4 Twisting in Twisted pairis done for the purposes of canceling out

4.5

from external sources.

1s used in night vision equipment when there is insufficient visible

light to see.

4.6 CRCis technique.

4.7 Ethernet supports transmission.

4.8 1s an example of C2C E-Commerce model.

4.9 JavaScript is a high-level, dynamicand _ programming language.
4.10 Multicasting support is provided in Address.
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AT &Y / PART TWO

(el TR U=t & 3T S / Answer any

(b)

(©

(a)

(b)

(©

FOUR questions)

thc fafRior diafadr H
e B | % Hice Eafder
¥ fore TR e & 2

IS.A tsg T ? IPv4 3R
IPv6 & & fHedAdmsi w

Il 3Tl |
Udh dcds A Th Tag & w7

Hfddr & 2 sEAT HrIYOTSN
&fr off carETET P |

Explain Packet switching
technology. How 1s it
different  from Circuit
switching ?

What is an IP Address ?
Highlight the

between IPv4 and IPv6.

differences

What 1s the role of a switch

in a network ? Also explain

(a)

(b)

(©

(a)

(b)

(©

(a)

(b)

(©

(a)
(b)

(©

AT T 5ol FAT & ? Tg Th
T STt A e o R ¥ 2
Udd L. / IS oy
X Uictehied, SUe0l 3T 31
&fI sP1S BT ATH ford |
N.UA.TH. & HAgd W JhIem
3Tel | ST ATH YOTTST Sl
T cITEIT B |

What 1is a Meta search
engine ? How is it different
from a search engine ?

List the protocols, devices
and unit of data at each of
TCP/IP layers.
Highlight
importance of DNS. Also

upon the

explain Domain name
system structure. (5+5+5=15)

aWma. / A AT &
Acdd ol B I oI
A |

Al H T IO B &
A & TIT U T8 UH U
g8 g1 |

RPCeRI e ¥ 2 T ot
fepeetamd AR diceres ot
Rrceramdhr & dra R aa? |
Explain the network layer
function of TCP/IP Model.
Create an HTML page to
demonstrate target
attribute in Frames.

What 1is cryptography ?
Explain  the  difference
between Private Key

its working. (5+5+5=15) Cryptography and Public
Key Cryptography. (5+5+5=15)
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(b)

(©

(a)

(b)
(©

(b)

(a)

(b)

Th Foldd 0T S @l
e wa & for uH
9.8 UA.T. US I |
TTET HY |

dr3ndrs 3R 3m.uaudig
& g AR Tdr’ |

Create an HTML page to
demonstrate a Clickable
image.

Explain the basic types of
Firewalls.

Differentiate between POP3
and IMAP4 (5+5+5=15)

FlSc AR TITAT T & 2
FollsC HAX UTHIhRIAT & el
3T g |

Tfere feoaforar ford:

() TP SH &1 oIl

(i) TH.ALO.

(iii) Srar Fepce

(iv) Solaellad PIAY

(v) drardn

What 1s Client Server
architecture ? Give three
examples of Client Server
applications.

Write short notes on:

(1) Structure of an email

(1) FTP

(111) Java Script

(iv) Electronic Commerce

(v) PPP (5+10=15)
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